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| can solve any 3d + 3d as money

Remember To:

- add the pounds
- add the tens

- add the pence
- add the totals

£8.52 + £6.57 = 2) £3.61+£8.43 =
£3.03 + £8.36 = 2 £337+£142=
£1.75 + £7.72 = °) £8.71 + £5.26 =
£1.12 + £5.44 = 2) £9.94 + £1.91 =
2 £4.49 + £2.65 = Y £4.27 + £6.09 =
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| can solve any 3d + 3d as money

Remember To:

- add the pounds
- add the tens

- add the pence
- add the totals

£8.52 + £6.57 = 2) £3.61+£8.43 =
£15.09 £12.04
£3.03 + £8.36 = 2 £337+£142=
£11.39 £4.79
£1.75 + £7.72 = £9.47 °) £8.71 + £5.26 =
£13.97
£1.12 + £5.44 = 2) £9.94 + £1.91 =
£6.56 £11.85
2 £4.49 + £2.65 = 9 £4.27 + £6.09 =
£7.14 £10.36
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